

| | | Data | 02/05/25 | Address of Bidder: | | 286 Memorial Court | | Geske & Sons, Inc. 400 E. Terra Cotta Ave Crystal Lake, IL 60014 | |
|---------------------------------------|---|-----------------|------------------------------|---------------------|-------------|--------------------|-------------|--|-------------|
| Local Public Agency: Chemung Township | | Date: | 03/05/25 | | | | | | |
| County: McHenry | | Time: | 9:00am | Proposal Guarantee: | | | | | |
| Section: 25-04000-00-GM | | | | Terms: | | | | | |
| Engineer's Estimate: \$35,000.00 | | | | | | | | | |
| | | | Approved Engineer's Estimate | | | | | | |
| Item No. | Item | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 1 | HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 | TON | 500.00 | \$70.00 | \$35,000.00 | \$54.00 | \$27,000.00 | \$51.80 | \$25,900.00 |
| 2 | FOB PLANT (\$0.50/TON/MI) X MILES | | | | | \$9.85 | \$4,925.00 | \$12.60 | \$6,300.00 |
| 3 | PLANT LOCATION (MILES) | | | | | McHenry, IL (19.7) | | Crystal Lake, IL (25.2) | |
| | | | Total Bid: | As Read: | \$31,944.70 | | \$32,225.20 | | |
| | | | | As Calculated: | \$31,944.70 | | \$32,225.20 | | |
| | | Approved Engine | | er's Estimate: | \$35,000.00 | LOW BID | | | _ |





Name of Bidder: Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Local Public Agency: Chemung Township Date: 03/05/25 9:00am Proposal Guarantee County: McHenry Time: Section: 25-04000-00-GM Terms Engineer's Estimate: \$35,000.00 Approved Engineer's Estimate Item No. Item **Unit Price Unit Price** Unit Quantity Total **Total** \$58.00 \$29,000.00 1 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 TON 500.00 \$70.00 \$35,000.00 FOB PLANT (\$0.50/TON/MI) X MILES 2 \$8.05 \$4,025.00 3 PLANT LOCATION (MILES) Marengo, IL (16.1) As Read: \$33,041.10 Total Bid: \$33,041.10 As Calculated: **Approved Engineer's Estimate:** \$35,000.00



| | | | | | Name of Bidder: Curran Contracting Co. | | ting Co. | Geske & Sons, | Inc. |
|---|---|-------|------------------------------|------------------------------|--|------------------------|-------------|-------------------------|-------------|
| | | | | Address of Bidder: | | 286 Memorial Court | | 400 E. Terra Cotta Ave | |
| | | | | | | Crystal Lake, IL 60014 | | Crystal Lake, IL 60014 | |
| Local Public Agency: Greenwood Township | | Date: | 03/05/25 | | | | | | |
| | County: McHenry | | 9:00am | Proposal Guarantee: | | | | | |
| Section: 25-09000-00-GM | | | | Terms: | | | | | |
| Engine | Engineer's Estimate: \$70,000.00 | | | | | | | | |
| | | | | Approved Engineer's Estimate | | | | | |
| Item No. | Item | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 1 | HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 | TON | 1,000.00 | \$70.00 | \$70,000.00 | \$54.00 | \$54,000.00 | \$51.80 | \$51,800.00 |
| 2 | FOB PLANT (\$0.50/TON/MI) X MILES | | | | | \$4.15 | \$4,150.00 | \$9.35 | \$9,350.00 |
| 3 | PLANT LOCATION (MILES) | | | | | McHeni | y, IL (8.3) | Crystal Lake, IL (18.7) | |
| | | | • | Total Bid: | As Read: | \$58,158.30 | | \$61,168.70 | |
| | | | | | As Calculated: | \$58,158.30 | | \$61,168.70 | |
| | | Арр | Approved Engineer's Estimate | | \$70,000.00 | LOW BID | | | · |





Name of Bidder: Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Local Public Agency: Greenwood Township Date: 03/05/25 9:00am Proposal Guarantee County: McHenry Time: Section: 25-09000-00-GM Terms Engineer's Estimate: \$70,000.00 Approved Engineer's Estimate Item No. Item **Unit Price Unit Price** Unit Quantity Total **Total** \$55.00 \$55,000.00 1 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 TON 1,000.00 \$70.00 \$70,000.00 FOB PLANT (\$0.50/TON/MI) X MILES 2 \$8.25 \$8,250.00 3 PLANT LOCATION (MILES) Fox Lake, IL (16.5) As Read: \$63,266.50 Total Bid: \$63,266.50 As Calculated: **Approved Engineer's Estimate:** \$70,000.00



| Local Public Agency: Hebron Township | | Date: | 03/05/25 | А | Address of Bidder: | | 286 Memorial Court | | Geske & Sons, Inc. 400 E. Terra Cotta Ave Crystal Lake, IL 60014 | |
|--------------------------------------|---|-------|----------------|------------------------------|--------------------|--------------------|--------------------|-------------------------|--|--|
| County: McHenry | | Time: | 9:00am | Proposal Guarantee: | | | | | | |
| Section: 25-11000-00-GM | | | | Terms: | | | | | | |
| Engineer's Estimate: \$35,000.00 | | | | | | | | | | |
| | | | | Approved Engineer's Estimate | | | | | | |
| Item No. | Item | Unit | Quantity | Unit Price | Total | Unit Price | Total | Unit Price | Total | |
| 1 | HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 | TON | 500.00 | \$70.00 | \$35,000.00 | \$54.00 | \$27,000.00 | \$52.80 | \$26,400.00 | |
| 2 | FOB PLANT (\$0.50/TON/MI) X MILES | | | | | \$5.65 | \$2,825.00 | \$9.70 | \$4,850.00 | |
| 3 | PLANT LOCATION (MILES) | | | | | McHenry, IL (11.3) | | Crystal Lake, IL (19.4) | | |
| | | | | Total Bid: | As Read: | \$29,836.30 | | \$31,269.40 | | |
| _ | | | | | As Calculated: | \$29,836.30 | | \$31,269.40 | | |
| | Approved Engine | | er's Estimate: | \$35,000.00 | LOW BID | | | | | |





Name of Bidder: Peter Baker & Son, Co. Address of Bidder: 1349 Rockland Rd. Lake Bluff, IL 60044 Local Public Agency: Hebron Township Date: 03/05/25 9:00am Proposal Guarantee County: McHenry Time: Section: 25-11000-00-GM Terms Engineer's Estimate: \$35,000.00 Approved Engineer's Estimate Item No. Item **Unit Price Unit Price** Unit Quantity Total **Total** \$27,500.00 \$55.00 1 HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, N50 TON 500.00 \$70.00 \$35,000.00 FOB PLANT (\$0.50/TON/MI) X MILES 2 \$8.95 \$4,475.00 3 Fox Lake, IL (17.9) PLANT LOCATION (MILES) As Read: \$31,992.90 Total Bid: \$31,992.90 As Calculated: **Approved Engineer's Estimate:** \$35,000.00